40

=Abstract=

Clinico-pathologic study of the 40 cases endometrial carcinoma

K.S. Lee, M.D., H.B. Lee, M.D., J.B. Kang, M.D., H.B. Kim, M.D., K.Y. Lee, M.D., Y.W. Lee, M.D., Y.S. Park, M.D., S.W. Kang, M.D.

Department of Obstetrics and Gynecology College of Medicine, Hallym University, Seoul, Korea

Background: This study evaluated the characteristics of clinical and pathological profile at diagnostic cases of the endometrial cancer in the Hallym University Hospital. The purpose was to determine prognostic factors and differences of endometrial carcinoma in our country.

Methods: This retrospective study was based on chart review. This study enrolled 40 patients with endometrial carcinoma from 1984 to 1994 who are managed in department of Obstetrics and Gynecology at Hallym University Hospital. We focused on the age, symptoms, risk factors, surgical stage, histologic features and univariate analysis of prognostic factors for 5 vear survival rate.

Results: The mean age at diagnosis was 51.1 years old and main symptom is vaginal bleeding 87.5%, and postmenopausal women are 67.5%. The principal diagnostic tool is endometrial biopsy, and the other noninvasive screening test is remained to develop.

The pathologic subtypes were adenocarcinoma 80%, adenosquamous carcinoma 17.5%, papillary serous carcinoma 2.5% and the surgical stage were stage I 60%, stage II 7.5%, stage III 12.5%, stage IV 10%. The 5 years survival rate by stage & pathologic findings were stage I 79%, II 33%, III 20%, IV 0%, adenocarcinoma 78%, adenosquamous carcinoma 57%.

Conclusion: We know that clinical features of endometrial carcinoma in our country is similar to western country, but infertility was not risk factor in our study and the age at diagnosis is younger and advanced disease is more and the prognosis in the advanced disease is poor than western country.

Keywords: Endometrial carcinoma, clinical profile, pathologic profile

(uterine corpus)

97%가

(endometrial carcinoma)

```
(uterine sarcoma)
                       가
                       1996
                                34,000
         가
                                    (The
                                                                           1988
                                                                                 FIGO
American Cancer Society).
         가
                                                                                 Kaplan-
                            1.1 1.2%
                                              Meier test
                     239
    , 1994
                 가,
    가
                     가
                                가
                                                1.
                                                                   (Fig. 1)
                                                1984 1
                                                              1993 12
                                                                             10
                             (unknown)
           가
                   가
                                                                    40
                                                                    가
                                                                   6,
                                                                             5
                                                                                     34
      (unopposed estrogen repacement therapy),
                                                    90
                                                   90
                                                                  5
                                              가
                           (nulliparity), 가
                             가
                            가
                                              Fig. 1. Annual diagnostic incidence of Endometrial
                                                    Cancer.
                                                2.
                                                                   (Table 1)
                                                                       51.1 (28 78 )
           1984 1
                        1994
                                                   50
                                                           가 18
                                                                        45%
10
                                                     가
                                                            가
               )
                                                           10
                                                                  25%
                                                        4 10%
               가
                                                         8 20%
                                                           3 (7.5%),
                                                                            37 (92.5%)
```

가

- 40 -

Table 1. Age & Parity distribution

	No. of patients	percentage
Age distribution		
40	4	10
40 50	10	25
50 60	18	45
< 60	8	20
Parity distribution		
Nuliparity	3	7.5
multiparity	37	92.5
Total	40	100

Table 2. Preclinical diagnostic symptoms

Symptoms	No. of patients	percentage
Irregular vaginal bleeding	35	87.5
Menometrorrhage	1	2.5
Vaginal discharge	3	7.5
abdominal pain	5	12.5
abdominal mass	2	5
none	0	0

^{* 3} patients may have > 1 symptom

4.	(7)	Table 3)	
가			
Body mass index(BMI)	가	BMI
	G	Frade O	,
Grade71	가		

가 BMI= $(Kg)/\{$ (m)}2 Grade O : BMI ≤ 25 Grade I: BMI; 25 29.9 Grade II: BMI; 30 40 Grade III: BMI > 40 Grade I 가 17 42.5% 8 3 (20%), 5 (12.5%) (7.5%),, Tamoxifen

5. (Table 4)

Pap stain

27 (67.5%),

24

. Papanicolaou's stain
10 25%
24 7
5mm 7 7 54%
7 7 15 63% .
34

6 2 Papanicolaou's stain punch biopsy conization 1

Table 4. Diagnostic tools

Diagnostic tools	No. of patient	percentage
Pap stain positivity	10/40	25
Transvaginal USG		
EM thickening > 5mm	7/24	54
uterine enlargement	15/24	63
Endometrial biopsy	34/24	100

6. , ,

Table 5. Stage of Endometrial cancer(surical & clinical)

FIGO Stage	No. of patients	percentage	5 year survival(%)
	28	60	78
	3	7.5	33
	5	12.5	20
	4	10	0
	3	7.5 12.5	33

^{*} Operation case-surgical stage (re-staging by FIGO 1988 criteria)

stage I

25%

Grade3가 7

(Table 6).

7. (Table 5, 6) 5 7.

Table 6. Histo-pathologic types in 40 case of endometrial cancer

	No. of cases	percentage	5 year survival(%)
Pathologic subtype			
adenocarcinoma	32	80	78
adenosquamous carcinoma	7	17.5	57
adenoacanthoma			
Clear cell carcinoma			
Papillary adenocarcinoma	1	2.5	0
Secretory carcinoma			
Histologic Grade(stage I only)			
Grade I	13	46	77
Grade II	8	29	75
Grade III	7	25	57
Myometrial invasion (stage I only)			
None	15	53	87
< 1/2	8	29	63
> 1/2	5	18	60

^{*} Non operable case-Clinical staging

40 가 가 Grade 2 75%(6/8), Grade 50 . stage I 3 57% (4/7) 50%가 Ia 87%, Ib 63%, Ic 60% 가 (Table 6). Table 7. Treatment modality , Tamoxifen No. of treatmnt type percentage patients 가 10 TAH & BSO alone 42.5 17 23% TAH & BSO & RT 22.5 9 .5) TAH & BSO & RT & CT 1 2.5 RAH & PLND alone 2.5 1 RAH & PLND & RT 2.5 1 RAH & PLND & RT & CT 2.5 aromatase RT alone 3 12.5 androstenedion estrone TAH & BSO: Total abdominal hysterectomy and . 23kg bilateral salpingo-oophorectomy 가 10 RAH & PLND: Radical abdominal hysterectomy and 가 pelvic lymphnode dissection RT: Radiation therapy 가 CT: Chemo therapy theca cell tumor granulosa cell tumor 5 15% .7) 75%가 25%가 5%가 40

가

8%

가

2-60 가 가 .8) 가 가 가 50 75 35 1 가 Tamoxifen 75%가 7.5% (3/40 63)

2) 51 ,3) 15%, 52 , 53 9)

40

	가				
	15% .		•		
	87.5%가				
·		71	-	71	£ 40/
			5mm	가	54%
가	가 기	가			가
Hawwa ZM	50				가
	9%가				•
					•
60 16%, 70	28%, 80	60%			
가 .10)			가	. Archer	DF 801
,					
D	. 1			1	11 1:00
Papa	nicolaou ,			1	well differe-
		ntiated c	arcinoma		screening
	가			가	가
		اد	1.0	•	•
		가	. 14)		
		1988	The Intern	ational Federa	ation of Gyne-
	Pat	panico- cology a	and Obstetrics(F	FIGO)	
laou's stain	50% 가	11)	`	,	
		11)			
25%((10/40)		•		Abe-
6		ler			
					stage I
					suge 1
	71	010/	II 110/	III 60/	_
	가	81%, sta	ge II 11%, stag	ge III 6%, stag	_
·	가	81%, sta	ge II 11%, stag 5		_
	가		5	83	ge IV 2% 3%, 73%, 52%,
,	가	81%, sta 27%	5 .15)		ge IV 2% 3%, 73%, 52%,
, 가	가		5	Wolfson A	ge IV 2% 3%, 73%, 52%, A.H
, 가 가 sound currette	가 · ·		5 .15)	Wolfson A	ge IV 2% 3%, 73%, 52%,
	가 ·	27%	5 .15)	Wolfson A	ge IV 2% 3%, 73%, 52%, A.H 78.2%, stage II
		27% 5.8%, st	5 .15) 156 age III 7.7%, s	Wolfson A stage I 7 stage IV 8.3%	ge IV 2% 33%, 73%, 52%, A.H 78.2%, stage II
		27%	5 .15) 156 age III 7.7%, s 90.6%, 85.7	Wolfson A	ge IV 2% 3%, 73%, 52%, A.H 78.2%, stage II 5
		27% 5.8%, st	5 .15) 156 age III 7.7%, s	Wolfson A stage I 7 stage IV 8.3%	ge IV 2% 33%, 73%, 52%, A.H 78.2%, stage II
		27% 5.8%, st	5 .15) 156 age III 7.7%, s 90.6%, 85.7	83 Wolfson A stage I 7 stage IV 8.3% %, 58.3%, 09	ge IV 2% 3%, 73%, 52%, A.H 78.2%, stage II 5 % stage I 70%,
가 sound currette	2.2 4.6mm	27% 5.8%, st 71 7.2 stage II	5 .15) 156 age III 7.7%, s 90.6%, 85.7 .16) 7.5%, stage III	83 Wolfson A stage I 7 stage IV 8.3% %, 58.3%, 09	ge IV 2% 33%, 73%, 52%, A.H 78.2%, stage II 5 % stage I 70%, IV 10%
71 sound currette 13.2mm	2.2 4.6mm , 12 24.4mn	27% 5.8%, st. 71 7.2 stage II n 5	5 .15) 156 age III 7.7%, s 90.6%, 85.7 .16) 7.5%, stage III	83 Wolfson A stage I 7 stage IV 8.3% %, 58.3%, 09	ge IV 2% 33%, 73%, 52%, A.H 78.2%, stage II 5 % stage I 70%, IV 10%
가 sound currette	2.2 4.6mm , 12 24.4mn フト	27% 5.8%, st 71 7.2 stage II	5 .15) 156 age III 7.7%, s 90.6%, 85.7 .16) 7.5%, stage III	83 Wolfson A stage I 7 stage IV 8.3% %, 58.3%, 09	ge IV 2% 33%, 73%, 52%, A.H 78.2%, stage II 5 % stage I 70%, IV 10%
71 sound currette 13.2mm	2.2 4.6mm , 12 24.4mn 가 가 5mm	27% 5.8%, st 7.2 stage II 7.2 III,IV	5 .15) 156 age III 7.7%, s 90.6%, 85.7 .16) 7.5%, stage III	83 Wolfson A stage I 7 stage IV 8.3% %, 58.3%, 09	ge IV 2% 33%, 73%, 52%, A.H 78.2%, stage II 5 % stage I 70%, IV 10%
71 sound currette 13.2mm	2.2 4.6mm , 12 24.4mn 가 가 5mm	27% 5.8%, st. 71 7.2 stage II n 5	5 .15) 156 age III 7.7%, s 90.6%, 85.7 .16) 7.5%, stage III	83 Wolfson A stage I 7 stage IV 8.3% %, 58.3%, 09 12.5%, stage 9%, 33%, 20%	ge IV 2% 33%, 73%, 52%, A.H 78.2%, stage II 5 % stage I 70%, IV 10%
71 sound currette 13.2mm	2.2 4.6mm , 12 24.4mn 가 가 5mm	27% 5.8%, st. 7.2 stage II 1.12) Robert	5 .15) 156 age III 7.7%, s 90.6%, 85.7 .16) 7.5%, stage III	83 Wolfson A stage I 7 stage IV 8.3% %, 58.3%, 09 12.5%, stage 9%, 33%, 20%	ge IV 2% 33%, 73%, 52%, A.H 78.2%, stage II 5 % stage I 70%, IV 10% %, 0% stage
가 sound currette 13.2mm 가	2.2 4.6mm , 12 24.4mn 가 가 5mm	27% 5.8%, st 7.2 stage II n 5 .12) III,IV Robert stage I	5 .15) 156 age III 7.7%, s 90.6%, 85.7 .16) 7.5%, stage III 79 71	83 Wolfson A stage I 7 stage IV 8.3% %, 58.3%, 09 12.5%, stage 9%, 33%, 206	ge IV 2% 33%, 73%, 52%, A.H 78.2%, stage II 5 % stage I 70%, IV 10% %, 0% stage
71 sound currette 13.2mm	2.2 4.6mm , 12 24.4mn 가 가 5mm 가	27% 5.8%, st. 7.2 stage II n 5 .12) III,IV Robert stage I	5 .15) 156 age III 7.7%, s 90.6%, 85.7 .16) 7.5%, stage III 79 71	83 Wolfson A stage I 7 stage IV 8.3% %, 58.3%, 09 12.5%, stage 9%, 33%, 209 Chr.	ge IV 2% 33%, 73%, 52%, A.H 78.2%, stage II 5 % stage I 70%, IV 10% %, 0% stage istoperson canthoma 22%,
가 sound currette 13.2mm 가	2.2 4.6mm , 12 24.4mn 가 가 5mm	27% 5.8%, st. 7.2 stage II n 5 .12) III,IV Robert stage I	5 .15) 156 age III 7.7%, s 90.6%, 85.7 .16) 7.5%, stage III 79 71	83 Wolfson A stage I 7 stage IV 8.3% %, 58.3%, 09 12.5%, stage 9%, 33%, 209 Chr.	ge IV 2% 33%, 73%, 52%, A.H 78.2%, stage II 5 % stage I 70%, IV 10% %, 0% stage
가 sound currette 13.2mm 가	2.2 4.6mm , 12 24.4mn 가 가 5mm 가	27% 5.8%, st. 7.2 stage II n 5 .12) III,IV Robert stage I ac adenosqu	5 .15) 156 age III 7.7%, s 90.6%, 85.7 .16) 7.5%, stage III 79 71	83 Wolfson A stage I 7 stage IV 8.3% %, 58.3%, 09 12.5%, stage 9%, 33%, 209 Chr.	ge IV 2% 33%, 73%, 52%, A.H 78.2%, stage II 5 % stage I 70%, IV 10% %, 0% stage istoperson canthoma 22%,
가 sound currette 13.2mm 가	. 2.2 4.6mm , 12 24.4mn フト フト 5mm フト	27% 5.8%, st. 7.2 stage II 5.12) III,IV Robert stage I ac adenosqu 6, pap	5 .15) .156 age III 7.7%, s 90.6%, 85.7 .16) 7.5%, stage III	83 Wolfson A stage I 7 stage IV 8.3% %, 58.3%, 09 12.5%, stage 9%, 33%, 209 Chr.	ge IV 2% 33%, 73%, 52%, A.H 78.2%, stage II 5 % stage I 70%, IV 10% %, 0% stage istoperson canthoma 22%, cell carcinoma
가 sound currette 13.2mm 가	2.2 4.6mm , 12 24.4mm 7 7 5mm 7 .	27% 5.8%, st. 7.2 stage II n 5 .12) III,IV Robert stage I ac adenosqu	5 .15) 156 age III 7.7%, s 90.6%, 85.7 .16) 7.5%, stage III 79 71 denocarcinoma maous carcinor illary serous ca	83 Wolfson A stage I 7 stage IV 8.3% %, 58.3%, 09 12.5%, stage 9%, 33%, 200 Chr. 60%, adenoac ma 7%, clear arctinoma 5% 1%, 88%, 53%	ge IV 2% 3%, 73%, 52%, A.H 78.2%, stage II 5 % stage I 70%, IV 10% %, 0% stage istoperson canthoma 22%, cell carcinoma 6, 44%, 68%
가 sound currette 13.2mm 가	. 2.2 4.6mm , 12 24.4mn フト フト 5mm フト	27% 5.8%, st. 7.2 stage II 5.12) III,IV Robert stage I ac adenosqu 6, pap	5 .15)	83 Wolfson A stage I 7 stage IV 8.3% %, 58.3%, 09 12.5%, stage 9%, 33%, 200 Chr. 60%, adenoac ma 7%, clear arctinoma 5% 1%, 88%, 53%	ge IV 2% 33%, 73%, 52%, A.H 78.2%, stage II 5 % stage I 70%, IV 10% %, 0% stage istoperson canthoma 22%, cell carcinoma

- 40

72%	1984 1 1993 12
5 stage I II	
36% 40% III,IV .17)	,
adenocarcinoma 80%, adenosqumaous carcino-	
ma 17.5%, papillary serous carcinoma 2.5%	. 10 3 (
5 adenocarcinoma 78%,	, ,)
adenosqumaous carcinoma 57%	40
Grade tumor gland	
Grade 1 solid growth pattern	1. 51 40
tumor 5% , Grade 2 6 50%, Grade 3	가 50
50% .	
grade Grade 1 30%, Grade 2가	2. 67.5%
42% grade 3가 27% .15) Grade stage	2 가 .
5	3. 87.5%
87%, 75%, 58%	, 12.5%, vaginal discharge
stage I Grade1 tumor 46%	7.5% .
5 77%,	4. , , ,
75%, 57%	, , tamoxifen ,
가	
Wolfson A.H 5	가 .
stage Ia 93.8%, Ib 95.4%,Ic 75%	5.
Ia Ib 가	가
Ic .	가
87%, 63%, 60% Ib Ic가	6. stage I 60% 가
Ia .	stage II 7.5%, stage III 12.5%, stageIV 10%
	5 stage I
	79%, stage II 33%, stage III 20%, stage IV 0%
. Grade 3	. stage III, IV
가 (adjuvant)	가
. Progeste-	
ron receptor가 Progesteron	7. adenocarcino-
가 .	ma가 80% 가 adenosquamousca-
가 10	rcinoma 17.5%, papillary serous carcinoma 2.5%
가	. 5 adenocarcinoma 78% 7
·	adenosquamouscarcinoma
	57%, papillary serous carcinoma 0% .
	adenoacanthoma가 가
·	adenoa-
	canthoma 가 .
V.	8. stage I Grade Grade1 46% 7
	Grade 27t 29% Grade 37t 25% 5

77%, 75%, 57% .

Grade1 tumor .

9. stage I Ia
7\; 53\%, Ib7\; 29\%, Ic7\; 18\% 5
87\%, 63\%, 60\% Ib, Ic7\; Ia

가 . 10.

27 .

- Reference-

- 2. Plaz CE, Benda JA: Female genital tract cancer. Cancer 1995; 75: suppl: 270-94.
- 3. , , , : 1992; 35: 562-70.
- Kurman RJ, Kaminski PF, Norris HJ: The behavior of endometrial hyperplasia: a long-term study of "untreated" hyperplasia in 170 patients. Cancer 1985; 56: 403-12.
- Nilson PA, Koller O: Carcinoma of the endometrium in Norway 1957-1960 with special reference to treatment results. Am J Obstet Gynecol 1969; 105: 1099-1109.
- Bjorkholm E, Pettersson F: Granulosa-cell and thecacell tumors: the clinical picture and long-term

- outcome for the Radiumhemmer series. Acta Obstet Gynecol Scand 1980; 59; 361-5.
- Lesko SM, Rosenberg L, Kaufman DW et al: Cigarette smoking and the risk of endometrial cancer. N Engl J Med 1985; 313: 593-6.
- 9. , , .: 1983; 26: 1125.
- Hawwa ZM, Nahhas WA, Copenhaver EH: Postmenopausal bleeding. Lahey Clin Found Bull 1970; 19: 61-70.
- 11. Gusberg SB, Milano C: Detection of endometrial carcinoma and its precursors. Cancer 1981; 47: 1173.
- Granberg S, Wikland M, Karlsson B, Norstom A, Friberg LG: Endometrial thickness as measured by endovaginal ultrasonography for identifying endometrial abnormality. Am J Obstet Gynecol 1991; 164: 47-52.
- 13. Robert DL, June JP, Katherine AO et al: Transvaginal ultrasonography compared with endometrial biopsy for the detection of endometrial disease. N Engl J Med 1997; 337: 1792-1798.
- Archer DF, McIntyre-Seltman K, Wilborn WW Jr et al: Endometrial morphology in asymptomatic postmenopausal women. Am J Obstet Gynecol 1991; 165: 317-22.
- Abeler VM, Kjorstad KE: Endometrial adenocarcinoma in Norway: a study of a total population. Cancer 1991; 67: 3093-103.
- Wolfson AH, Sightler SE, Markoe AM, et al: The prognostic significance of surgical staging for carcinoma of the endometrium. Gynecologic oncology 1992; 45: 142-146.
- Christopherson WM, Alberhasky RC, Connelly PJ: Carcinoma of the endometrium: papillary adenocarcinoma: a clinical pathological study, 46 patients. Am J Clin Pathol 1982; 77: 534-40.

- 43 -